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OVERVIEW OF INDIAN
ECONOMY

Every economy in the world has its own characteristics or features by which it is
known oridentified. Economies are compared with each other on the basis of these
features. India as adistinct nation came into existence on 15th August 1947, called
the independence day of India which marked the end of British rule over India.
After that, Independent India has completed 66 years of self rule on 15th August
2013. This period is long enough to evaluate the position and performance of the
country to enable comparison with other countries in the world as well as evaluate
its own progress over the years. With this view in mind the current lesson provides
the features of Indian economy.

After completing this lesson, you will be able to:

e describe the characteristics or features of Indian economy;
e explain the problems faced by Indian economy;
e explain the role of agriculture in India; and

e describe the growth of industry in India.

1.1 FEATURES OF INDIAN ECONOMY

Let us now list the features of Indian economy as follows:
(i) Low per capita income
(i)) Heavy population pressure

(ii1) Dependence of population on agriculture
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(iv) Poverty and Inequality income distribution
(v) Higher level of capital formation which is a positive feature
(vi) Planned economy

let us discuss these points one by one.

(i) Low per capita income

India is known in the world as a country with low per capita income. Per capita
income is defined as the ratio of national income over population. It gives the idea
about the average earning of an Indian citizen in a year, even though this may not
reflect the actual earning of each individual. India's per capita income for the year
2012-2013 is estimated at I 39,168. This comes to about X 3,264 per month. If we
compare India's per capita income with other countries of the world then it can be
seen that India is well behind many of them. For example, the per capita income
of USA is 15 times more that of India while China's per capita income is more than
three times of India.

(ii) Heavy population pressure

India is world's second largest populated country after China. As per 2011 census
India's population stands at more than 121 crores. It increased at a rate of 1.03
percent during 1990-2001. The main cause of fast rise in India's population is the
sharp decline in death rate while the birth rate has not decreased as fast. Death rate
isdefined as the number of people died per thousand of population while birth rate
is defined as the number of people taking birth per thousand of population.

In 2010, the birth rate was 22.1 persons per one thousand population while the
death rate was only 7.2 persons per one thousand population. Low death rate is
not a problem. In fact it is a sign of development. Low death rate reflects better
public health system. Buthigh birth rate is a problem because it directly pushes the
growth of population. After 1921, India's population increased very fast because
birthrate declined very slowly while death rate declined very fast. From49in 1921
the birthrate declined to 22.1in 2010 while during the same time period, death rate
declined from 49 to 7.2. Hence the population growth was very rapid in India.

Heavy population pressure has become a major source of worry for India. It has
putburden on the public exchequer to mobilize enough resources to provide public
education, health care, infrastructure etc.

(iii) Dependence on Agriculture

Majority of India's working population depend on agricultural activities to pursue
their livelihood. In 2011 about 58 percent of India's working population was
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engaged in agriculture. In spite of this, the contribution of agriculture to India’s Development

gross domestic product is a little over 17 percent. A major concern of agriculture
in India is that productivity in this sector is very less. There are many reasons for
this. There is heavy population pressure on land to sustain huge number. Due to
population pressure on land the per capita availability of land area is very low and
not viable for extracting higher output. Two, since per capita land availability is
less, amajority of people are forced to become agricultural labour working at low
wages. Three, Indian agriculture suffers from lack of better technology and
irrigation facilities. Four, mostly people, who are not educated or not trained
properly, are engaged in agriculture. So it adds to low productivity in agriculture.

Notes

. INTEXT QUESTIONS 1.1

Fill in the blanks
1. India's per capita income is ................ of that of China?
(a) twice (b) one third
(c) same as (d) none of the above
2. USA's per capita income is ................ of that of India?
(a) 15times (b) 10 times
(c¢) lessthan (d) none of the above

3. Asper 2011 census, India's population stands at
(a) more than 100 crore (b) less than 100 crores
(c) more than 121 crores (d) none of the above

4. India's Birth rate in 2010 was:

(@) 20.2 (b) 21.2

() 22.1 (d) 23.2
5. India's death rate in 2010 was

(a) 7.2 (b) 7.4

(c) 7.8 (d 7.9

6. India's population growth was rapid because
(a) death rate is more than birth rate
(b) birth rate is more than death rate
(c) birth rate is same as death rate

(d) none of the above
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7. In 2011, .eeeeeeenn. percent of India's working population was engaged in
agriculture?
(a) 70 (b) 80
(c) 68 (d) 58
8. Contribution of agriculture to India's national income in 2011 was around
(a) 10 percent (b) 20 percent
(c) 17 percent (d) 25 percent

(iv) Poverty and inequality

Another very disheartening thing about India is that it has world’s largest number
of poor people. As per reports of government of India, in 2011-12 about 269.3
million people in India were poor. This was about 22 percent of India's population.
A person is termed poor if he/she is not able to consume the required amount of
food to get a minimum calorie value of 2400 in rural area and 2100 in urban area.
For this the person must earn the required amount of money as well to buy the food
items. The government has also estimated that the required amount of money is X
816inrural area and X 1000 in urban area per head per month. This comes to about
T 28 in rural area and ¥ 33 in urban area per head per day. This is called poverty
line. This implies that 269.9 million people of India were not able to earn such little
amount in 2011-12.

Poverty goes with inequality in income and wealth distribution. Very few in India
posses materials and wealth while majority have control over no or very little
wealthin terms of land holding, house, fixed deposits, shares of companies, savings
etc. Only top 5 percent of households control about 38 percent of total wealth in
India while the bottom 60 percent of household has control over only 13 percent
of the wealth. This indicates concentration of economic power in a very few hand.

Another issue linked to poverty is the problem of unemployment. One of the most
important reasons of poverty in India is that there is lack of job opportunities for
all the persons who are in the labour force of the country. Labour force comprises
of the adult persons who are willing to work. If adequate number of jobs are not
created every year, the problem of unemployment will grow. In India every year
large number of people are added to the labour force due to increase in population,
increase in number of educated people, lack of expansion of industrial and service
sector at the required speed etc.

So far we discussed the negative features. There are certain positive features of
Indian economy as well. They are discussed below.
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(v) Higher rate of capital formation or investment

At the time of independence, one of the major problem of Indian economy was
deficiency in capital stock in the form of land and building, machinery and
equipment, saving etc. In order to continue the cycle of economic activities such
as production and consumption, a certain ratio of production must go towards
saving and investment. However, the required ratio was never generated in the first
fourto five decades afterindependence. The simple reason being higher consumption
of necessary items by the population of whom most happened to be poor and lower
middle income class. Collective household saving was very less due to this.
Consumption of durable items was also very less. But in recent years things have
charged. Economists have calculated that in order to support the growing
population, India requires 14 percent of its GDP to be invested. It is encouraging
to note that the saving rate of India for the year 2011 stands at 31.7 percent. The
ratio of gross capital formation was 36.6 percent. This is possible because people
are now able to save in banks, consume durable goods and there has been large
scale investment taking place on public utilities and infrastructure.

(vi) Planned economy

Indiais aplanned economy. Its development process has been continuing through
five year plan since the first plan period during 1951-56. The advantage of planning
is very well known. Through planning the country sets its priorities first and
provides the financial estimates to achieve the same. Accordingly efforts are made
to mobilise resources from various sources at least cost. India has already
completed eleven five year plan periods and the twelfth plan is in progress. After
every planareview is made analysing the achievements and short falls. Accordingly,
things are rectified in the next plan. Today India is a growing economy and
recognised every where as a future economic power. The per capita income of
Indiais growing ata higherrate than before. Indiais seen as a big market for various
products. All these are possible due to planning in India.

1.2 ROLE OF AGRICULTURE IN INDIA

Agriculture is one of the most important sectors of Indian economy. It is the
supplier of food and raw materials in the country. At the time of independence more
than 70 per cent of India's population depended on agriculture to earn livelihood.
Accordingly the share of agriculture in the national product/income was as high
as 56.6 per centin 1950-51. However with development of industries and service
sector during the plan periods, the percentage of population depending on
agriculture as well as the share of agriculture in the national product has come
down. In 1960, the percentage of labour force engaged in agricultural activities
was 74 which gradually came down over the years to 51 per centin 2012. In 1960
the share of labour force in industry and service sectors stood at 11 and 15 percent

ECONOMICS

MODULE - 1

Indian Economic
Development

Notes




MODULE - 1

Indian Economic
Development

Notes

Overview of Indian Economy

respectively. But in 2012 these shares increased to 22.4 and 26.5 percent
respectively. It has been observed in most of the economies that along with
economic development shift in labour force from agriculture to industry and
service sector takes place.

Agriculture is the source of food supply. The production of food grains has
increased from nearly 55 million tonnes in 1950-51 to 259 million tones in 2012-
13. Because of the growth in food grain production, India's dependence on import
of food grains has declined and almost become nil. Keeping in view the rapid
growth in India's population, increase in food grain was a necessity which the
country achieved significantly. Except for pulses, increase in food grains has been
mode possible by increase in cereals and various cash crops.

Agriculture is also amajor source of foreign exchange earning through export. The
share of agriculture in India's export in the year 2011-12 was 12.3 percent. The
major items of export include tea, sugar, tobacco, spices, cotton, rice, fruits and
vegetables etc.

1.3 GROWTH OF INDUSTRY IN INDIA

Industry or the secondary sector of the economy is another important area of
economic activity. After independence, the government of India emphasized the
role of industrialization in the country's economic development in the long run.
Accordingly, the blue print for industrial development was made through the
Industrial Policy Resolution (IPR) in 1956. The 1956 policy emphasized on
establishment of heavy industries with public sector taking the lead in this area.
Adoption of heavy or basic industries strategy was justified on the ground that it
will reduce the burden on agriculture, enable growth in the production of
consumer goods industries as well as small industries that are helpful for
employment generation and achieving self reliance. After the adoption of the IPR,
1956 there was tremendous growth in industrialization during the second and third
plan periodsi.e. 1956-61 and 1961-66. Public sector contributed maximum to this
growth. Buttowards the end of 1960s, investment in industries was reduced which
adversely affected its growth rate. In the 1980s, this trend was reversed and
investment in industries was increased by making the infrastructure base such as
power, coal, rail much stronger.

In early 1990s it was found that the public sector undertakings were not
performing upto expectation. There has been reports of mismanagement in these
under takings resulting in loss. So in 1991 the government of Indian decided to
encourage the role of private sector in industrial development, remove the rigid
licence system which is known as liberalization and allow international players to
compete in the domestic country as well as domestic players to explore foreign
territories. The aim of taking all these steps was to strengthen the process of
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industrialization in the country. Such a model of industrial development is called
Liberalization, Privatization and Globalization (LPG) model.

After the adoption of this new policy in 1991, there has been phases of growth
followed by slowdown in the industrial development process. In the early years of
1990s there was significant growth in industrialization due to increase ininvestment
in infrastructure, reduction in excise duty, availability of finance etc. But towards
the end of 1990s the growth rate slowed down due to stiff competition from
international companies, inadequate infrastructure support etc. However, in the
beginning of the new millennium, between 2002-08 there was again some recovery
due to increase in saving rate from 23.5 percent in 2001-2 to 37.4 percent in 2007-
08. Even the competition from the foreign companies helped during this phase as
the domestic companies could create enough internal strength in term of quality
control, finance and customer care etc. to withstand the competition. However
after 2008-09 there was some slow down in industrial growth due to rise in
petroleum price, interest rate and borrowings from abroad which has created lot
of liabilities for the domestic companies.

. INTEXT QUESTIONS 1.2

1. What was share of agriculture in India's national income in 1950-51?

2. With economic development, labour force tend to shift from industry to
agriculture. True or False

3. What was the share of agriculture in India's export in 2011-12?

4. Give the full form of LPG?

5. The industrial policy of 1956 emphasized on the strategy of
(a) Lightindustries (b) small and medium industries

(c) Heavyindustries (d) none of the above

@ WHAT HAVE YOU LEARNT

In this lesson you have learnt that

e India is a developing economy with the promise to grow in future.

e Indiais currently among those countries whose per capita income is low.
e Indiais suffering from heavy population pressure

e A majority of india's populaiton is dependent on agriculture.

e There is high absolute poverty in India
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e The gap between rich and poor is substantial in India
e Some positive features of Indian economy are
= India's saving rate is high

= Five year plannning in India is running successfully

Notes 4
TERMINAL EXERCISE

Short Answer Type Questions

1. Give one positive and two negative features of Indian Economy.
2. Give two reasons for low productivity in agriculture in India.

3. What is main cause of increase in population in India?

4. Why is India called planned economy?
5

. Define poverty line in rural area.

Long Answer Type Questions

India suffers from heavy population pressure. Explain.
Explain two positive features of Indian economy.

India's per capita income is low? Do you agree. Give reasons.
Describe India as agricultural country.

Briefly discuss the poverty and inequality situation in India.

Explain the role of agriculture in Indian economy.

N kW=

Explain the growth of industrialization in India?

ﬂ‘ ANSWERS TO INTEXT QUESTIONS

1.1
I. d 2. (@ 3.() 4 () 5 (@ 6.(d 7. 8. (¢

1.2
1. 56.5 percent 2. False
3. 12.3 percent 4. Liberalization, Privatization and Globalization

5. Heavyindustries
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